Computational Foundations for ML 10-607

Geoff Gordon

Notes and reminders

• Room for Quiz 2: GHC 4215



Prob #5 proof

#	Formula	Α	$\vee I$	ee E	$\wedge I$	$\wedge E$	$\rightarrow I$	Pre
1	a	\checkmark	\bigcirc	\bigcirc	\bigcirc	\bigcirc	\bigcirc	nor
2	$a \lor b$	\bigcirc	Ś	\bigcirc	\bigcirc	\bigcirc	\bigcirc	1
3	$a \lor c$	\bigcirc		\bigcirc	\bigcirc	\bigcirc	\bigcirc	١
4	$(a \lor b) \land (a \lor c)$	\bigcirc	\bigcirc	\bigcirc		\bigcirc	\bigcirc	2,
5	$a \to [(a \lor b) \land (a \lor c)]$	\bigcirc	\bigcirc	\bigcirc	\bigcirc	\bigcirc		١, ١
6	$b \wedge c$		\bigcirc	\bigcirc	\bigcirc	\bigcirc	\bigcirc	-
7	b	\bigcirc	\bigcirc	\bigcirc	\bigcirc		\bigcirc	4
8	$a \lor b$	\bigcirc		\bigcirc	\bigcirc	\bigcirc	\bigcirc	٦
9	С	\bigcirc	\bigcirc	\bigcirc	\bigcirc	X	\bigcirc	4
10	$a \lor c$	\bigcirc	S	\bigcirc	\bigcirc	\bigcirc	\bigcirc	9
11	$(a \lor b) \land (a \lor c)$	\bigcirc	\bigcirc	\bigcirc		\bigcirc	\bigcirc	8,
12	$b \wedge c o [(a \lor b) \wedge (a \lor c)]$	\bigcirc	\bigcirc	\bigcirc	\bigcirc	\bigcirc		6
13	$a \vee (b \wedge c)$		\bigcirc	\bigcirc	\bigcirc	\bigcirc	\bigcirc	
14	$(a \lor b) \land (a \lor c)$	\bigcirc	\bigcirc	S	\bigcirc	\bigcirc	\bigcirc	5,
15	$egin{array}{l} [a ee (b \wedge c)] ightarrow [(a ee b) \wedge \ (a ee c)] \end{array}$	\bigcirc	\bigcirc	\bigcirc	\bigcirc	\bigcirc		13



ExerciseInformation gain

X 1	X 2	Y
1	1	0
0	1	0
1	0	0
0	1	1
0	0	1



